Relative production costs:

         Per pound of titanium              per bushel of wheat
US            $10                                                  $1

Russia      5,000 rubles                            2,500 rubles

The opportunity cost of an additional pound of titanium is:              ???? in the US   and                 ?????? in Russia

The opportunity cost of an additional bushel of wheat is                    ???? in the US   and                 ?????? in Russia
 
I feel like the $ are making this difficult for me to do, because I thought I understood opportunity cost her but I am struggling with this one.  I don't know if it is -9.00 or 0.10 cents.  
[bookmark: _GoBack]I assume the US has the comparative advantage in wheat  because the can make it for $1 instead of a pound of titanium for $10, but I'm not sure.  I think Russia has the comparative advantage in titanium because the give up less wheat to make titanium, but I'm not totally sure.  Please help me.
